11,000,000

Eleven million

T T Vint: Distributive property 2 ‘ = ) 316 4 3 (LCD = 107
= 600(0.75 + 0.25) eleven thousand = 11,000 510 Y
=600x1 sleven = ¢ ; 11 = 12+3 _ 1..5_3 - 3 -
=600 R 4 11,011,011 10 16 2 2 ‘
4 | Hint: Collect like terms positives first 5] T Tos 120 hr 6 _1 1
=2X+5x—3x—4x+5y+y + 5Bm 505 7 60 3712
=7x—7x+ 6y 11%m &0s =3 =
=6y + 1 -50 =2hr 3 1
: 1 20m 0305 ﬁ Welftll.s &
7 Ex—10=2x-7 8|72 ] 1296 s 25 10 17, 28 37
=N 2 2 2 '
Sy 2x =T +10 2 | 648 | 1296=22x22x3?x3 5,15| 71 - | o |
. i ‘ :
3% =10 - 7 g fg; ViZ96=2x%2x3x3 IR
3x_3 3| 8 =36
3 3 3 ‘ AIZ?A‘“ g
x=1 3 9
3 3
1 s
10 12 16 20 24 11 | (a). Started Monday 12:00pm 12 | LCD=60 T
ot 7 11
9 12 | 15 | 18 Hint: Changs 100hrs to days (557 60)—— (55 % eo)
: = {100 + 24) days a0
Upper numbers are multiples of 4 = 4days and 4 hrs 2122
Lower numbers are multiples of 3 Time = 12:00pm + 4hrs 7 11
=(3x3), 3x4), 3x5), 3x6) = At 1600hrs or (4:00pm) 20 30
=9, 12, 15, 18 .
{b). = Monday.+ 4 days = Friday »
- - e p— SO
13 Skg —1.5kg 14 [=PXTXt 15 CA»-%mh
= 3.5kg 100 22 .
_3.5—3.55,(10—35—7 -300000><ix-—§— w-Zx—;—xmcmxl.,cm
=5 TEx10 50 10 12" 100 = 330cm .
' Ratio = 7:10 = 8,000Frw F
16| x [ 25 [ 27 | 26 [ 20 | 30 || 17 | =100%+5% 18 Bread Salt -
' - 0 5
f 3. 1 2 |1 2 101505A> » 5009 = 5¢
(bzwe;?nzzs 27,[28 28, 29, 30, 30 $05¢p = 525,000 x 100 sl
28, 29, 30, 105CP 525,000 X 100 500 = (5w 1s0)s
! 105 105 &= (sod e )" |
i R = X ]
Median = 28 Ci =500 000Frw = 1.5g of salt
19 ._F _ 100cm 28 cm 20 | Ext = 180Y ~ Int.angle 20 (ZSX - 0(;) i, 000) '
4 4 = 180° ~ 150° AT R ) ( 100
A=8SxS§ =30° = 25,000m? + 110m?
360° ;
= 25¢m X 25¢cm = —— =25,110m?
Ext ;
= 625cm? 360° .
| = 300 = 12sides
2| D 6em _ BlVv=M=<D 24 | Openinterval (straight line)
D=6cmr= T 3cm B - 2 = 2.16km
. 1 2p =178g + 1o g/cm Lix Ni=2.16km
==70r )
3 10 18X (Np—-1) = (EE x 1000) m
1 22 = 178g X5 g/cm 100
=-§x-,—7-x3cmx30mx14cm 1.8Np —1.8m = 2160m
= 20cm?® 1.8Np = 2160m + 1.8m
=132cm? 1.8Np 2161.8
1.8 1.8

Np = lel trees
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LR A M AKX - y |28 s »1"distance- Z"ddlstance i 27 | John=x- v -
" ',-4><2+2x0 3 . SxXT=SxT Mary = (2x2) =25
_ ‘ ‘ 1
s + IO X =|— X2X|=x
=8+0+3 (x .)_ x Joy =5 x2x
. 40 X 0 60 x 0 (2 ) o
5 ;333__8 i +10 X‘}‘2x4"x335§,i}{"‘...‘w
s - 2(5)=r #_ 350,000
- , 2x -20=3x % %
; X = 87,5004rw
20km = 3x - 2x
Joan = 87,5008 1w
X =20km Mary = (2 X 87,500) = 175, 000Frw
The distance is 20km Joy = 87, 500Frw
28 15t year 29 | LCD =360 - 30 | 45+ 35+ 25 = 180°(n 2)
PXT xR ' ' - 3. -
o xl___o._o_x._._ 2 B 2 % 360 = 144 95 = 1800(3 Z)
1,000,000 X 1 x 12 5 5 T e (é6) 95 =180°x i
100 _— 95 180°
I =120,000Frw 5=35% 360 = 160 (i) 5=
A =1,000,000F + 120,000F s =209
=1,120,000Frw ' 11 11 ,
= =-—X360=99 . . o (D) 1*angle = 20° x 4 = gp°
20 year 010 .
(! iy s ¥ VI . -
PxT xR _ | 2™angle = 20° % 3 = 0°
U 3"angle = 20° x 2 = 49¢
1120000x1x12 11z 4 ¥
100 40" 5' 9
! = 134, 400Frw
A =1,120,000F + 134, 400F
= 1,254,400Frw
N[y - JEE+ 12 32 Part (a) B3A + B =] Mix 1
_ 4X—4=2x+8 ‘ i
. =y (5 X 5)em? + (12 x 12)em? 4x-2x =8+ 4 4 20 3T e e (120+7) |
=y25¢m? + 144cm? 2x =12 S — e ey B
Bk - 23 2 200 | 240 210
: =/ 169c¢m? 2 2 . J .
| =13cm =6 (120X 200) + (240 % 1 = o009 "
. | i (120 x 200) + (240 x r)=210(120+x)
TSA=(bxh)+L(b+h+H) LCD =6 (Multiply the 3 terms by LCD) 24,000 + 240x = 25,200 -+ 23 0x .
= 2 2 2
.._(le%\)cm +8(5+ 12+ 13)em 6()+6(’\-6(x ) 240x——210x=25,200—24,000
( = 60cm* + 8 x 30cm? . o ‘
; : 5 2x+6=3(x-2) 30x = 1,200
= 60cm? + 240cm 2x+6=3x—-6 e 1300
= 300cm? 2x—34="6-6 s .+~ i
=12 P30 30
1x 12 “ ¥ = 40k g
1 1 x =12 ‘ The second type has A0leg
34 5 7 2 4\ 1 35 | X+ 2x+ 2.3 50 ¥ 3.5x = 180°(a =39 37 "”“‘“"““*1‘;;‘;96‘“; T
B (Z“i’ﬁ) (3 +§) "1 igx = ;332(53 2) . 96cm
x = X =T
— , 12
- (M) -+ (ﬁi) ._3. 12x = 540° = 8¢cm
20 \ 9 4 12x  540° TSA=6X%Xsxs
) _ 1 H)__ 1 ' 12 7 12 : = 6 X 8cm X 8cmn
- =20 4 B E= e , = 384cm?
2x =45°x 2 =9( '
994200 - 45 FEASTXZ = 1184dm
| - 180 B~ 10 - 112 ,50 e J\}!?!Irdm
| | _299-45 254 127 = 1% 3x=45°%3 =135° Part (b}
. T 180 180 90 % 355 = 450 22 o 45 50 V=SXxSxS$
= : 10 = 8cm X 8cm X 8em
|y : = Slzcmv i
+| 36| Teacher'sguidance
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